Pay Estimate Created Date: June 1, 2021

Progress Estimate N 6	umber		210122-H01 H.R. Quadri Conti	ractors, LLC			Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,938.10	
Approval Date								By User	
June 1, 2021			Generated and A	opproved (an	nd should be considered	d Draft) at t	he Project Office Level by	forshd1	
June 1, 2021		Re	viewed and Approv	ved (and she	ould be considered Dra	ift) at the R	esident Engineer Level by	PULLIA	
June 4, 2021			F	Reviewed an	d Approved at the Cen	tral Office (Controllers Office Level by	greggd1	
Original Completion	n Date	Current Corr	pletion Date	Actual	Completion Date	of Current Contract Amount	ount Complete		
November 1, 20	21	Novembe	er 1, 2021			26.75%			
	Contrac	t Informational Dat	tes		Milestones				
Date Description	Origina	I Completion Date	Current Comple	tion Date	No Milestones Exist fo	or Contract			
Acceptance Date									
Awarded Date	Februar	y 3, 2021	February 3, 2021						
Letting Date	January	22, 2021	January 22, 2021	1					
Notice to Proceed Date	March 1	, 2021	March 1, 2021						
Work Began Date	March 1	, 2021	March 1, 2021						

Contract Total Pay For Estimate No. 6 This Estimate Previous To Date 210122-H01 <mark>\$95,330.59</mark> Total Posted Items Pay \$839,816.57 \$935,147.16 **\$9,020.00** \$0.00 \$58,535.50 \$67,555.50 Gross Item Adjustments Incentive \$0.00 \$0.00 \$0.00 \$0.00 Disincentive \$0.00 \$0.00 Liquidated Damage Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$898,352.07 \$1,002,702.66

Contract Total Payable This Estimate: \$104,350.59

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3169	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$77,800.000	0.06	\$4,668.00
	0140	2037075	COMPACTING IN CUT	STA	\$200.000	6	\$1,200.00
	0260	6161005	CONSTRUCTION SIGNS	SQFT	\$6.500	32	\$208.00
	0350	6181000	MOBILIZATION	LS	\$357,018.350	0.25	\$89,254.59
Project J9P3169	- Total						\$95,330.59
Overall - Total							\$95,330.59

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

D : (011 11		A 11 1 1	1.1.1.1.	A 12 4 4
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3169	0140	COMPACTING IN CUT	Material			-6	\$200.00	(\$1,200.00)
	0140	COMPACTING IN CUT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	6	\$200.00	\$1,200.00
	0180	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-1,975.4	\$8.00	(\$15,803.20)
	0180	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1,975.4	\$8.00	\$15,803.20

Pay Estimate Created Date: June 1, 2021

Progre		imate Number 6	Contract ID Prime Contra	210122 actor H.R. Qu		Pay Period Start May 16, 2021 Origi tors, LLC Pay Period End June 1, 2021 Net C Curre		r Amount \$3	,491,712.42 ,938.10 ,495,650.52
Project Number	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3169	0590		RY SEEDING D MULCHING	Material			-4.4	\$2,050.00	(\$9,020.00)
	0590		RY SEEDING D MULCHING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	4.4	\$2,050.00	\$9,020.00
	0590		RY SEEDING D MULCHING	Other Item Adjustment	Other	This is a line item adjustment for the system correction from error on estimate 0004.			\$9,020.00
Total									\$9,020.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatic	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9P3169	FAF 160-3(17)	Pavement and guardrail improvements	160	OZARK	from 0.9 miles east of Co	unty Road 530 to 0.3 miles	s west of North Fork River
Totals by J	Job Number	rs					
J9P3169		l Item Pay Item Adjustmer		tem Pay	This Estimate \$95,330.59 \$9,020.00 \$104,350.59	Previous \$839,816.57 \$58,535.50 \$898,352.07	To Date \$935,147.16 \$67,555.50 \$1,002,702.66
			ments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3169, Item 2037075, Project Item Line Number 0140, Material Set 203707596, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	material accepted. Reports pending.	forshd1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3169, Item 3040506, Project Item Line Number 0180, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	material accepted. Reports pending.	forshd1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3169, Item 8061017, Project Item Line Number 0590, Material Set 806101796, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	material accepted. Reports pending.	forshd1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	is Gener	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-H01	J9P3169	0001	0010	2013000	CLEARING AND GRUBBING	8.00	-8.00	0.00	ACRE	0.00	\$15,000.00	\$0.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.06	\$77,800.00	\$4,668.00
		0001	0030	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	691.00	0.00	691.00	SQFT	691.00	\$8.00	\$5,528.00
		0001	0040	2024048	REMOVAL OF CAULKING/GLAZING COMPOUNDS (OTHER) (CATEGORY II NONFRIABLE)	280.00	0.00	280.00	LF	280.00	\$10.00	\$2,800.00
		0001	0050	2024070	REMOVAL OF FLOOR SHEETING ACM ON WOOD (FRIABLE)	45.00	0.00	45.00	SQFT	45.00	\$20.00	\$900.00
		0001	0060	2024072	REMOVAL OF FLOOR SHEETING ACM ON CONCRETE (FRIABLE)	331.00	0.00	331.00	SQFT	331.00	\$20.00	\$6,620.00
		0001	0070	2024093	REMOVAL OF FLOOR TILE ACM ON WOOD (CATEGORY I NON- FRIABLE)	33.00	0.00	33.00	SQFT	33.00	\$20.00	\$660.00
		0001	0080	2024098	REMOVAL OF FLOOR TILE AND MASTIC ACM ON CONCRETE (CATEGORY I NON-FRIABLE)	293.00	0.00	293.00	SQFT	293.00	\$8.00	\$2,344.00
		0001	0090	2027000	DISPOSAL AND PLUGGING OF WELLS	1.00	0.00	1.00	EA	0.00	\$4,000.00	\$0.00
		0001	0100	2029950	DEMOLITION AND REMOVAL OF BUILDINGS	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.00
		0001	0110	2031000	CLASS A EXCAVATION	64,606.00	0.00	64,606.00	CUYD	41,000.00	\$8.00	\$328,000.00
		0001	0120	2032000	CLASS C EXCAVATION	35,741.00	0.00	35,741.00	CUYD	1,600.00	\$13.65	\$21,840.00
		0001	0130	2036000	COMPACTING EMBANKMENT	1,068.00	0.00	1,068.00	CUYD	0.00	\$2.00	\$0.00
		0001	0140	2037075	COMPACTING IN CUT	58.00	0.00	58.00	STA	6.00	\$200.00	\$1,200.00
		0001	0150	2063300	CLASS 4 EXCAVATION	32.00	0.00	32.00	CUYD	0.00	\$20.00	\$0.00
		0001	0160	2072000	LINEAR GRADING CLASS 2	16.90	0.00	16.90	STA	4.00	\$400.00	\$1,600.00
		0001	0170	2081000	INTERCEPTION DITCH	44.00	0.00	44.00	100F	0.00	\$500.00	\$0.00
		0001	0180	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	29,696.00	0.00	29,696.00	SQYD	1,975.40	\$8.00	\$15,803.20
		0001	0190	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10.00	0.00	10.00	TONS	0.00	\$50.00	\$0.00
		0001	0200	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	178.60	0.00	178.60	TONS	0.00	\$85.50	\$0.00
		0001	0210	4019905	MISC.Optional Pavement - 5.75"	4,836.90	0.00	4,836.90	SQYD	0.00	\$28.50	\$0.00
		0001	0220	4019905	MISC.Optional Pavement - 8"/8.5"	77.80	0.00	77.80	SQYD	0.00	\$140.00	\$0.00
		0001	0230	6096042	PLACING TYPE 2 ROCK DITCH LINER	3,891.00	0.00	3,891.00	CUYD	0.00	\$30.00	\$0.00
			0240	6097000	ROCK LINING	11.00	0.00	11.00	CUYD	0.00	\$50.00	\$0.00
		0001	0240	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$72.00	\$0.00
		0001										
		0001	0260	6161005	CONSTRUCTION SIGNS	1,320.00	0.00	1,320.00	SQFT	357.00	\$6.50	\$2,320.50
		0001	0270	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$45.00	\$180.00
		0001	0280	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	4.00	\$10.25	\$41.00
		0001	0290	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	16.00	\$20.00	\$320.00
		0001	0300	6161030	TYPE III MOVEABLE BARRICADE	8.00	0.00	8.00	EA	0.00	\$225.00	\$0.00
		0001	0310	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,000.00
		0001	0320	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	0.00	\$8,000.00	\$0.00
		0001	0330	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$1,000.00	\$0.00
		0001	0340	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	2.00	\$250.00	\$500.00
		0001	0350	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$357,018.35	\$357,018.35
		0001	0360	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11,600.00	0.00	11,600.00	LF	0.00	\$0.25	\$0.00
		0001	0370	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11,600.00	0.00	11,600.00	LF	0.00	\$0.25	\$0.00
		0001	0380	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	25,224.00	0.00	25,224.00	LF	0.00	\$0.17	\$0.00
		0001	0390	6214600A	FLOWABLE BACKFILL	12.00	0.00	12.00	CUYD	0.00	\$200.00	\$0.00
		0001	0400	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$28,000.00	\$0.00
		0001	0410	7034041	CLASS B-1 CONCRETE (CULVERTS)	14.90	0.00	14.90	CUYD	0.00	\$1,000.00	\$0.00
		0001	0420	7061030	REINFORCING STEEL (CULVERTS)	1,820.00	0.00	1,820.00	LB	0.00	\$2.00	\$0.00
		0001	0430	7250318A	18 IN. PIPE GROUP B	94.00	0.00	94.00	LF	0.00	\$50.00	\$0.00
		0001	0440	7250324A	24 IN. PIPE GROUP B	228.00	0.00	228.00	LF	0.00	\$70.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

11122121 001 0400 75010 1010 1010 0.00 1500 0.10 0.00	Net Change Order	Bid Quantity	Quantity 0	Change	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
00010470725043351 N PIPE GROUP C38.000.0038.001.100.00580.00580.0000010480722007GORPUGATED METALLIC-COATED STEEL PIPE-ARCH TYPE0.00	0.00	155.00	155.00	0.00	155.00	LF	0.00	\$50.00	\$0.00
Interview COURT VICATED METALLIC-COATED STEEL PIPE-ARCH TYPE O	0.00	38.00	38.00	0.00	38.00	LF	0.00	\$70.00	\$0.00
International Internat	0.00	38.00	38.00	0.00	38.00	LF	0.00	\$80.00	\$0.00
Instrume	0.00	60.00	60.00	0.00	60.00	LF	0.00	\$100.00	\$0.00
Internation	0.00	2.00	2.00	0.00	2.00	EA	0.00	\$300.00	\$0.00
Index SECTION Index SECTION Index	0.00	8.00	8.00	0.00	8.00	EA	0.00	\$500.00	\$0.00
Interview <t< td=""><td>0.00</td><td>8.00</td><td>8.00</td><td>0.00</td><td>8.00</td><td>EA</td><td>0.00</td><td>\$300.00</td><td>\$0.00</td></t<>	0.00	8.00	8.00	0.00	8.00	EA	0.00	\$300.00	\$0.00
Initial Initial SECTION Initial <t< td=""><td>0.00</td><td>2.00</td><td>2.00</td><td>0.00</td><td>2.00</td><td>EA</td><td>0.00</td><td>\$400.00</td><td>\$0.00</td></t<>	0.00	2.00	2.00	0.00	2.00	EA	0.00	\$400.00	\$0.00
Note <th< td=""><td>0.00</td><td>2.00</td><td>2.00</td><td>0.00</td><td>2.00</td><td>EA</td><td>0.00</td><td>\$600.00</td><td>\$0.00</td></th<>	0.00	2.00	2.00	0.00	2.00	EA	0.00	\$600.00	\$0.00
Note <th< td=""><td>0.00</td><td>2.00</td><td>2.00</td><td>0.00</td><td>2.00</td><td>EA</td><td>0.00</td><td>\$2,000.00</td><td>\$0.0</td></th<>	0.00	2.00	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$0.0
Note <th< td=""><td>0.00</td><td>0.30</td><td>0.30</td><td>0.00</td><td>0.30</td><td>ACRE</td><td>0.00</td><td>\$3,500.00</td><td>\$0.0</td></th<>	0.00	0.30	0.30	0.00	0.30	ACRE	0.00	\$3,500.00	\$0.0
Note <th< td=""><td>0.00</td><td>8.40</td><td>8.40</td><td>0.00</td><td>8.40</td><td>ACRE</td><td>0.00</td><td>\$2,450.00</td><td>\$0.00</td></th<>	0.00	8.40	8.40	0.00	8.40	ACRE	0.00	\$2,450.00	\$0.00
Note <th< td=""><td>0.00</td><td>3,078.00</td><td>3,078.00</td><td>0.00</td><td>3,078.00</td><td>LF</td><td>972.00</td><td>\$11.50</td><td>\$11,178.0</td></th<>	0.00	3,078.00	3,078.00	0.00	3,078.00	LF	972.00	\$11.50	\$11,178.0
Note <th< td=""><td>0.00</td><td>177.00</td><td>177.00</td><td>0.00</td><td>177.00</td><td>CUYD</td><td>3.00</td><td>\$20.00</td><td>\$60.0</td></th<>	0.00	177.00	177.00	0.00	177.00	CUYD	3.00	\$20.00	\$60.0
Note <th< td=""><td>0.00</td><td>4.40</td><td>4.40</td><td>0.00</td><td>4.40</td><td>ACRE</td><td>4.40</td><td>\$2,050.00</td><td>\$9,020.00</td></th<>	0.00	4.40	4.40	0.00	4.40	ACRE	4.40	\$2,050.00	\$9,020.00
Note <th< td=""><td>0.00</td><td>1,450.00</td><td>1,450.00</td><td>0.00</td><td>1,450.00</td><td>LF</td><td>670.00</td><td>\$2.40</td><td>\$1,608.00</td></th<>	0.00	1,450.00	1,450.00	0.00	1,450.00	LF	670.00	\$2.40	\$1,608.00
No. <td>0.00</td> <td>21,752.80</td> <td>21,752.80</td> <td>0.00</td> <td>21,752.80</td> <td>SQYD</td> <td>0.00</td> <td>\$45.05</td> <td>\$0.00</td>	0.00	21,752.80	21,752.80	0.00	21,752.80	SQYD	0.00	\$45.05	\$0.00
Note <th< td=""><td>0.00</td><td>4,062.50</td><td>4,062.50</td><td>0.00</td><td>4,062.50</td><td>LF</td><td>0.00</td><td>\$24.50</td><td>\$0.0</td></th<>	0.00	4,062.50	4,062.50	0.00	4,062.50	LF	0.00	\$24.50	\$0.0
No. <td>0.00</td> <td>4.00</td> <td>4.00</td> <td>0.00</td> <td>4.00</td> <td>EA</td> <td>0.00</td> <td>\$2,800.00</td> <td>\$0.0</td>	0.00	4.00	4.00	0.00	4.00	EA	0.00	\$2,800.00	\$0.0
Note <th< td=""><td>0.00</td><td>137.00</td><td>137.00</td><td>0.00</td><td>137.00</td><td>LF</td><td>0.00</td><td>\$21.00</td><td>\$0.0</td></th<>	0.00	137.00	137.00	0.00	137.00	LF	0.00	\$21.00	\$0.0
10001 5002 1046002 VALUE ENGINEERING 0.00 8,000.00 EA 8,000.00 \$1.00 0001 5101 1099901 MISC.Specialized Clearing & Grubbing 0.00 2.00 2.00 LS 2.00 \$5,969.05	0.00	39.00	39.00	0.00	39.00	SQFT	0.00	\$32.00	\$0.0
OUCL State	8.00	0.00	0.00	8.00	8.00	ACRE	8.00	\$13,000.00	\$104,000.00
	8,000.00	0.00	0.00 8	8,000.00	8,000.00	EA	8,000.00	\$1.00	\$8,000.00
Project J9P3169 - Total Value Posted to Date as of Report Generated Date	2.00	0.00	0.00	2.00	2.00	LS	2.00	\$5,969.05	\$11,938.10
									\$935,147.1



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code		Descrip	tion	DWR Date	DWR Approva Date	Quantity I Posted	Units		Loca	tion		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset Distand		Comments	
0020	2022010	REMO	AL OF IMPROVEMEN	TS	5/26/21	6/1/21	0.06	LS	drop inlet removal				58+37						
0140	2037075	COMPA	CTING IN CUT		5/26/21	6/1/21	6.00	STA	compact in cut ST	A 61 west			61+00						
0260	6161005	CONST	RUCTION SIGNS		5/26/21	6/1/21	32.00	SQFT	Bump signs for the	e asphalt pa	tches from bl	asting	35+00						
0350	6181000	MOBILI	ZATION		5/26/21	6/1/21	0.25	LS	4th payment of mo	bilization			0		68				
e infor	mation b	elow t	his line are details	ofor Construction Signature	gns (if a	pplicab	<u>le).</u>												
Project	Line Nu	mber	DWR Date	Total Quantity Posted F	or DWR D	Date	ę	Sign Info	ormation	Station	Log Mile	Location	Number of	Items	SF Each S	lign	Special Sign	SF Each Special Sign	Total SF to Post
P3169	0260		February 26, 2021	325			GO20-4 3 FOLLOW ME		50 PILOT CAR				1.00	4	4.5				4
							G020-5aP (PLAQUE)	36x24	6.00 WORK ZONE				10.00	6	6				(
							CONST-7-48 WORK ZON		8.00 RATE OUR				2.00	٤	3				
							NO20-1 4 ROAD/BRID		6.00 IP WORK AHEAD				2.00	1	16				:
							GO20-4a 4 OR PILOT		8.75 PLEASE WAIT				6.00	ŧ	8.75				52
							NO20-7a 4 SYMBOL)	18x48	16.00 FLAGGER				2.00	1	16				3
							NO3-5 48 KX AHEAD (5.00 SPEED LIMIT				2.00	1	16				3
							SPECIAL 7 PRESENCE		32.00 POINT OF				2.00	3	32				6
							NO20-4 4 ROAD AHEA		6.00 ONE LANE				2.00	1	16				3
	0260 - Te										1	1							31



Line Item Adjustments by Estimate

Jun 4, 2021

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
,			Туре	Adjustment Type	Number	Date	Ву		
J9P3169	0110	CLASS A EXCAVATION	Price FUEL		2	Apr 2, 2021	SYSTEM	\$904.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Apr 16, 2021	SYSTEM	\$2,320.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	May 2, 2021	SYSTEM	\$556.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$3,780.40	
			Price FUEL -	Total				\$3,780.40	
	0110 -	Total						\$3,780.40	
	0120	CLASS C EXCAVATION	Price FUEL		5	May 17, 2021	SYSTEM	\$390.40	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$390.40	
			Price FUEL -	Total				\$390.40	
	0120 -	Total						\$390.40	
	0140	COMPACTING IN CUT	Material		6	Jun 1, 2021	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 1, 2021	SYSTEM	(\$1,200.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0140 -	Total						\$0.00	
	0180	TYPE 5 AGGREGATE FOR BASE (6 IN.	Material		4	May 2, 2021	SYSTEM	\$15,803.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		THICK)			4	May 2, 2021	SYSTEM	(\$15,803.20)	
					5	May 17, 2021	SYSTEM	\$15,803.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user varnej1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 17, 2021	SYSTEM	(\$15,803.20)	
					6	Jun 1, 2021	SYSTEM	\$15,803.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Jun 1, 2021	SYSTEM	(\$15,803.20)	
				- Total				\$0.00	
			Material - To					\$0.00	
			Price FUEL		4	May 2, 2021	SYSTEM	\$204.45	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$204.45	
			Price FUEL -					\$204.45	
	0180 -	Total						\$204.45	
	0270	ADVANCED WARNING RAIL SYSTEM	Material		1	Mar 16, 2021	SYSTEM	\$180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Mar 16, 2021	SYSTEM	(\$180.00)	
					2	Apr 2, 2021	SYSTEM	\$180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Apr 2, 2021	SYSTEM	(\$180.00)	
					3	Apr 16, 2021	SYSTEM	\$180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user forshd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Apr 16, 2021	SYSTEM	(\$180.00)	· · · · · · · · · · · · · · · · · · ·
				- Total				\$0.00	
			Material - To					\$0.00	



Line Item Adjustments by Estimate

Jun 4, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3169	0270 -	Total						\$0.00	
	0280	FLAG ASSEMBLY	Material		1	Mar 16, 2021	SYSTEM	\$41.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Mar 16, 2021	SYSTEM	(\$41.00)	
					2	Apr 2, 2021	SYSTEM	\$41.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Apr 2, 2021	SYSTEM	(\$41.00)	
					3	Apr 16, 2021	SYSTEM	\$41.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user forshd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Apr 16, 2021	SYSTEM	(\$41.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0280 -	Total						\$0.00	
	0290	CHANNELIZER (TRIM LINE)	Material		1	Mar 16, 2021	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Mar 16, 2021	SYSTEM	(\$320.00)	
					2	Apr 2, 2021	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	Apr 2, 2021	SYSTEM	(\$320.00)	
					3	Apr 16, 2021	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 16, 2021	SYSTEM	(\$320.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0290 -	Total						\$0.00	
	0310	CMS W/O COMMUNICATION INTERFACE,	Material		1	Mar 16, 2021	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user forshd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		CONT F/			1	Mar 16, 2021	SYSTEM	(\$7,000.00)	
					2	Apr 2, 2021	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user forshd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Apr 2, 2021	SYSTEM	(\$7,000.00)	
					3	Apr 16, 2021	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user forshd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Apr 16, 2021	SYSTEM	(\$7,000.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0310 -	Total						\$0.00	
	0340	TEMPORARY SHORT-TERM RUMBLE STRIPS	Material		1	Mar 16, 2021	SYSTEM	\$500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user forshd1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					1	Mar 16, 2021	SYSTEM	(\$500.00)	
					2	Apr 2, 2021	SYSTEM	\$500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user forshd1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					2	Apr 2,	SYSTEM	(\$500.00)	



Line Item Adjustments by Estimate

	ine Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
t Li	Description	Туре	Adjustment Type		Date	Ву	, anount	- Condition
9 03	340 TEMPORAI SHORT-TEF				2021			
	RUMBLE STRI			3	Apr 16, 2021	SYSTEM	\$500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user forshd1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				3	Apr 16, 2021	SYSTEM	(\$500.00)	
			- Total				\$0.00	
		Material - To	tal				\$0.00	
03	340 - Total						\$0.00	
05	570 ROCK DITO CHEO	CH Material CK		1	Mar 16, 2021	SYSTEM	\$11,178.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user forshd1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				1	Mar 16, 2021	SYSTEM	(\$11,178.00)	
				2	Apr 2, 2021	SYSTEM	\$11,178.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user forshd1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				2	Apr 2, 2021	SYSTEM	(\$11,178.00)	
				3	Apr 16, 2021	SYSTEM	\$11,178.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user forshd1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				3	Apr 16, 2021	SYSTEM	(\$11,178.00)	
			- Total				\$0.00	
		Material - To	tal				\$0.00	
	570 - Total						\$0.00	
05	590 TEMPORAI SEEDING AI MULCHIN	ID		3	Apr 16, 2021	SYSTEM	\$9,020.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user forshd1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				3	Apr 16, 2021	SYSTEM	(\$9,020.00)	
				4	May 2, 2021	SYSTEM	(\$9,020.00)	
				5	May 17, 2021	SYSTEM	\$9,020.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user varnej1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				5	May 17, 2021	SYSTEM	(\$9,020.00)	
				6	Jun 1, 2021	SYSTEM	\$9,020.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user forshd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				6	Jun 1, 2021	SYSTEM	(\$9,020.00)	
			- Total				(\$9,020.00)	
		Material - To					(\$9,020.00)	
		Other Item Adjustment	OTHR		Jun 1, 2021	forshd1	\$9,020.00	This is a line item adjustment for the system correction from error on estimate 0004.
		Otherwite	OTHR - Tot				\$9,020.00	
	-00 T-4-1	Other Item A	djustment - 1	otal			\$9,020.00	
	590 - Total			0	A	OVOTEL	\$0.00	Description of Factor of March 1997
06	30 MGS GUARDRA 8 FT. POSTS FT 3	6 Stockpile	- Total	2	Apr 2, 2021	SYSTEM	\$56,956.25	Payment Estimate Item Adjustment generated Stockpile Transaction
		Construct					\$56,956.25	
	20 Total	Construction	n Stockpile S	rivir - 1 ota			\$56,956.25	
	30 - Total	A 0 1 1		0	A., C	0/0777	\$56,956.25	Description of Factoria Article and a state of the state
	640 TYPE CRSHWTHY EI TERMIN	ID Stockpile		2	Apr 2, 2021	SYSTEM	\$6,224.00	Payment Estimate Item Adjustment generated Stockpile Transaction
Ut								
UC	(MAS	H)	- Total	TAN			\$6,224.00	
		H)	- Total n Stockpile S	TMI - Tota	I		\$6,224.00 \$6,224.00 \$6,224.00	



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3169 - Total							\$67,555.50		
Overall - Total							\$67,555.50		